
Name: ________________________________      Date: _____________________ 

UNIT 3           LESSON 8 

AIM: WHAT DOES CPCTC MEAN? HOW CAN WE USE THIS IN PROOFS? (DAY 1) 

Do Now:  

a) If 𝐺𝑅̅̅ ̅̅  and 𝐻𝑃̅̅ ̅̅   bisect each other at M, is  ∆𝐺𝐻𝑀 ≅ ∆𝑅𝑃𝑀? Explain what shortcut you would use to support your 

answer.  (Mark the diagram and write the plan but you do not have to write the full proof!) 

 

 

 

 

 

 

b) Identify all corresponding sides and angles.  

 

 

 

 

 

 

c) If 𝐺𝐻̅̅ ̅̅ = 2𝑥 + 7 and 𝑅𝑃̅̅ ̅̅ = 4𝑥 − 14, what is the value of x? Explain your answer.  

 

 

 

 

CORRESPONDING PARTS OF CONGRUENT TRIANGLES ARE CONGRUENT! 

• “PARTS” refer to _____________________ or _____________________. 

• In other words, if we know ________________ pieces of information to prove two triangles are congruent, we 

can prove that _____________________ corresponding sides and angles are congruent. 

• CPCTC is used when our prove statement is asking us to find corresponding  _______________ or 

________________ congruent within two triangles.  

• Before we can use CPCTC, we must first prove the triangles are _________________________! 

CORRESPONDING 
SIDES 

CORRESPONDING 
ANGLES 

  

  

  



EXAMPLE #1:  

Given: 𝐴𝐵 ∥ 𝐶𝐷 and 𝐴𝐵 ≅ 𝐶𝐷 

Prove: 𝐴𝐷 ≅ 𝐶𝐵 
 

STATEMENT REASON 

 
 
 
 
 
 
 
 
 
 
 
 

 

 
EXAMPLE #2: 

Given: JN and KM  bisect each other at 𝐿  

Prove: ∡𝐽 ≅ ∡𝑁 

 
 

 

STATEMENT REASON 
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EXAMPLE #3: 

Given: M is the midpoint of 𝐻𝑃, ∠𝐻 ≅ ∠𝑃 

Prove: 𝐺𝑀 ≅ 𝑀𝑅 
 

 

STATEMENT REASON 

  

EXAMPLE #4: 

Given:  bisects ÐABC , BD ^ AC  

Prove: ∡𝐴 ≅ ∡𝐶 
 

 

STATEMENT REASON 
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UNIT 3           LESSON 8 

HOMEWORK 

1. Given: DCEACB   

               BEDEBEAB ⊥⊥ ,  

               C is the midpoint of BE  
        
       Prove: 𝐴𝐵̅̅ ̅̅ ≅ 𝐷𝐸̅̅ ̅̅  
 
 
 
 

STATEMENT REASON 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



2. Given: 𝐴𝐸 bisects ∠𝐵𝐶𝐷 and 𝐵𝐶 ≅ 𝐷𝐶 
      Prove: ∡𝐵 ≅ ∡𝐷 

 
 
 
 
 
 
 
 

STATEMENT REASON 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


